Ch 6 Geometry Review Worksheet

(1)







   (2)
    Draw picture that illustrates the
    SAS inequality property
   








   Given:  AD = CE  ,  AE > CD

   








   Prove:  AB > BC


(3)







   (4)


                                         3
                                             2
                                           

   
Given:  Drawings







Angle 1 ________  Angle 2
   
Prove:  1 > 4



    



(5)







   (6)







    Given:  AM is a median: AB>AC


Given: Marked

   What do we know and 1 and 2?


Prove: ST > SV
   
Prove:  BD > AC






(7)







   (8)

                                                                                                                           x
                                                                                                            2x                        3x
   
Given:  m(BCD = m(BDC 


   
 


             m(ACD > m(ADC




Solve for x:
   
Prove:  m(ABD > m(ABC



 


(9)  







   (10)
Given:  BD = CD , 
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Given:  
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Prove:  AB ( AC




    
Prove:  AC  > BC


(11)  Find the longest and shortest segments

   (12)  If two sides of a triangle are 17 and 26,


in the figure below.




  then the third side must be between











       and               .

Answers:

1. BD>DC  
SAS Inequality

2>1             Angle Opp larger side

2.
ACE > CAD 
SSS Inequality


AB > CB  
Side opp longer angle

3.
1 > 2

Ext angle Theorem



2 > 3

Ext angle Theorem


3 = 4

VAT


1 > 4

Substitution

4.
Angle 1  <  Angle 2

5.         Angle 1  >  Angle 2

6.
SUV = SVU

Def Iso Triangle


SUT > SVU

Ext Angle Theorem


SUT > SUV

Substitution


ST > SV

Side Opp larger angle longer

7.
BC=BD    


CITT


AD > AC    


Longest side opp largerest angle


Angle ACD > 
Angle ADC  
SSS Inequality

8.
x = 30  

9.
Indirect proof:   If AB=AC, then the triangles areABC is an Iso triangle.  A line that goes from the vertex to MP of the base is also perpendicular  Therefore AD is perp to BC.  Which contradicts given. So AB does not equal AC.

10.  
1=2  Perp lines form cong. Adj angles


1>4 ; 1>3   Exterior angle Theorem


2>4;    Substitution


AC > BC  Side Opp largest angle

11.  AD Longest :  BC Shortes

12.  9<x<43
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